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Assignment 3
3 Non Parallel Forces in Equilibrium (closed triangle)
1. With three non-parallel forces acting on the object in equilibrium, a closed triangle can be drawn to represent the forces in magnitude and direction.
2. The three forces in equilibrium must meet at a point.
3. With more than three non-parallel forces acting on the object that is in equilibrium, a closed polygon can be drawn to represent the forces in magnitude and direction.
4. When any object is in equilibrium, the algebraic sum of the moments of all the forces about any point is zero.
5. When any object is in equilibrium, the algebraic sum of the resolved components of all the forces in any direction is zero.

6. Two strings are attached to a small metal ring as shown in the diagram. The mass of the ring is 1.0 kg. By means of a scale drawing or otherwise, find the magnitude of the force that must be present in the two strings to keep the ring stationary.
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7. A body is in equilibrium under the action of three forces. One force is 6.0 N acting due east and one is 3.0 N in a direction 60( north of east. What is the magnitude and direction of the third force?







8. A picture of weight 5.0 N is suspended by means of a 

string joined to its two upper corners and making an

angle of 30( with the horizontal. If the tension in the 

string is T, find the value of T.






9. An aerial is held by wires; the tension in two of the wires 

and the directions in which they act are shown in the diagram.


By means of a scale diagram, determine the 


resultant force exerted by the aerial by the two wires.

(i) Scale used: 1 cm = 40 N
(ii) Magnitude of the resultant: ___________

(iii) Angle between direction of the resultant and the direction of T1: ______
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